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SIS
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A i ot ket of ok of ok oforat of oFas
moy | Oz | O
0l 4 Xl (kcal ) 724 .33 724 .33 -1.6 682.2 711.9 752.8 731.9 683.4
Et==312(g) 47.0 71.1 81.0 80.8 109.2 73.2
CHEH Rl (g) 18.92 18.92 16.4 28.8 28.5 27.9 31.9 28.1
Xl (g) 36.5 29.9 29.2 35.3 17.3 31.8
HIEF2IA(4g RAE) 162.05 229.13 151.6 40.8 181.4 37.8 397.8 100.3
E10+2! (mg) 0.31 0.37 0.4 0.2 0.4 0.2 0.7 0.4
2l 2 Zetel(mg) 0.36 0.43 0.7 0.4 0.8 0.6 1.4 0.3
BIEFEIC(mg) 24.87 31.72 45.2 35.9 112.2 13.9 54.3 9.6
2425 (ng) 242.25 | 290.31 263.4 241.3 313.0 220.9 261.2 280.5
&HZ2(mg) 3.71 4.79 3.7 2.4 4.8 3.4 5.7 2.2
x | UX = AFAAHAGFY £10%, A0 grshE(55~65%) ¢ T (7~20%) A H(15~30%)
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RN 2T S E2XI(9) CADOIENA/EN | - 1H e
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s HE FE
=[N . o oray of oty of oty ora olore
ey | g3 | g3
Ol A Xl (keal ) 724.33 724.33 5.2 712.8 811.0 664.9 950.8 669.8
E3512(g) 52.3 74.5 11.7 93.9 99.3 117.4
SHer sl (g) 18.92 18.92 15.2 32.4 26.7 31.9 27.2 25.8
WELE)) 32.5 32.1 28.5 17.6 49.8 9.3
HIEF2IA(g RAE) | 162.05 229.13 126.0 180.9 105. 1 106. 1 179.5 58.2
El0t2! (mg) 0.31 0.37 0.5 0.5 0.6 0.4 0.4 0.5
2l2 22ty (ng) 0.36 0.43 0.6 0.5 0.8 0.6 0.7 0.3
HIEF2IC(mg) 24.87 31.72 29.1 33.7 52.4 25.4 24.7 9.5
25 (mg) 242.25 290.31 183.3 191.9 230.2 149.8 223.0 121.8
=2 (ng) 3.71 4.79 3.7 4.9 3.0 4.1 3.8 2.6
# UA= AFAAAZFY £10%, 730l wrshE(55~65%) ¢ A (7~20%) ¢ A HH(15~30%)
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B2 A% | FE2
=[EIPS o orgy of oty of oty oora oforat
°° moz | Oz | Oz
Ol Xl (keal ) 724.33 724.33 -5.7 683.0 663. 1 890.9 630.0 548.9
EH4312(g) 63.8 102.6 93.9 173.5 91.4 76.4
CHE (g) 18.92 18.92 16.3 32.9 29.5 27.5 32.4 14.7
NERE) 20.0 14.7 19.5 7.0 13.6 19.9
HIEF2IA(E RAE) | 162.05 229.13 9.3 57.0 227 .1 167.7 2.5 27.3
El0t2! (mg) 0.31 0.37 0.7 1.5 0.3 0.6 0.7 0.3
212 =2+l (mg) 0.36 0.43 0.4 0.7 0.5 0.5 0.3 0.2
HIEFRIC(ng) 24.87 31.72 37.7 39.6 19.7 109.0 8.0 12.0
2+25 (ng) 242 .25 290.31 159. 1 173.7 198.3 296.9 70.7 55.9
&= (ng) 3.71 4.79 3.9 4.3 3.3 6.6 2.3 3.1
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